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Questions

After fertilization in plant the fruit develops from:

Which part of flower is changed into fruit?

The outermost part of flower is called:

Female reproductive part of flower is called:

Fruit is formed by:

Ovule after ripening make :

Microsphore in plants is also termed as:

Diploid (2n) is:

Calyx is the outer most whorl of the flower and bears the colour:

Cloning is latest method of :

The plant in which vegetative propagation occurs by:

The latest method of vegetative propagation is:

Answers Choice

A
. Petals
. Wall of ovary
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Wall of ovule

Anther

Ovule
Ovary
Petals
Anther

Androecium
Corolla
Calyx
Gynoecium

Androecium

. Gynoecium

Calyx
Corolla

Ovule
Ovary
Calyx
Style

Fruit
Seed
Root

Egg

Pollen grain

. Pollen tube

Germ nucleus
Mega spore

Egg cell

. Sperm cell

Zygote
Endosperm

Red
Green
Blue
white

Tissue culture

. Vegetation propagation

Cutting
Grafting

Garlic
Ginger
Potato

. Bryopylium

Budding
Bulbs

. Cuttings
. Cloning



